A1
A
-
1138






(1) f2RRE2
7 BAARBEERRR #BEH(Te—1)

(ER27EE)
xt = = REREBEHER
= = 1 1 b NElXR| B
E 2 2 ¥ # ® % BE| A |AEAEE ®
T & " 3 & = =z | CT|lowuT] || X
& £ % = & = 2 2 2| » D % b =
2| # & &= & ) Hl o -] E| 2
# # B (%) (%) # (%) | 9| 1= %) = &
=) & &
Emias|[ 228,804 [ 10, 358 1,870 4.5 965 9.3 824 [ 85.4] 83 23 2 716 | 41 ] 100
X 18 || 94,796 1,205 271 1.3 127 | 10.5 110 | 86.6 | 10 4 - 96 | 12 5
#w o W 23,045 680 89 3.0 50 7.4 36| 72.0 6 2 1 27 2 12
% 2 mr|| 19,066 1,452 319 7.6 157 | 10.8 144 | 91.7 8 4 - 132 -1 13
= 3 BT 16,875 1,110 245 6.6 70 6.3 57| 81.4 8 1 - 48 -1 13
BEoEET|[ 5, 148 350 49 6.8 38| 10.9 24 | 63.2 1 1 - 22 -1 14
# = BT 12,048 910 135 7.6 50 5.5 44 | 88.0 - 1 - 43 - 6
2 WAET|| 5,460 376 143 6.9 31 8.2 27| 87.1 3 - - 24 4 -
%= J\ BT|[ 8 896 814 117 9.2 9% | 11.8 87 | 90.6 4 5 - 78
1EENIET|[ 14,994 1,294 111 8.6 150 | 11.6 132 | 88.0 | 21 2 - 109 -1 18
X B ET|[ 14,019 1,354 243 9.7 153 [ 11.3 127 830 15 3 1 108 ] 22 4
th B OET|| 14,457 813 148 5.6 43 5.3 36 | 83.7 7 - - 29 - 7
7 BRAABREERKRE BT6—1-1)
(ER275E)
*f = = REREBEHER
= E:3 A b b NE] X | B
e 2 2 & # ® % B | A |AMEAE ®
T4 =) ® % = =z |l T |lowuT| £ *
& £ % i & i 2 2 2| b o 5 B =2
2| # & = o | - Hlo | E | 2
# # B (%) (%) b5 (%) | ¢ z ) - &
] & &
Emias|l 108, 231 4,722 772 4.4 509 [ 10.8 425 ] 835 39 17 1 368 24 60
X 18 || 44,522 504 95 1.1 69 | 13.7 57| 82.6 3 3 - 51 7 5
#m 2 | 11,004 356 41 3.2 36| 10.1 26| 72.2 5 1 1 19 1 9
% 2 B 9,070 686 134 7.6 82| 12.0 76 | 92.7 4 4 - 68 - 6
&= o3 AT 7,993 523 110 6.5 46 8.8 37| 80.4 5 1 - 31 - 9
o EET|| 2, 446 170 25 7.0 17 ] 10.0 9] 52.9 - - - 9 - 8
# 5 ET|| 5,743 354 46 6.2 31 8.8 28 | 90.3 - 1 - 27 - 3
o WET|| 2, 637 192 68 7.3 20| 10.4 16 | 80.0 2 - - 14 4 -
= J\HE| 4,319 384 46 8.9 471 12.2 42| 89.4 2 4 - 36 4
mENET| 6,956 567 48 8.2 61 | 10.8 53 | 86.9 7 2 - 44 - 8
X % Er|| 6,663 606 98 9.1 721 11.9 60 | 83.3 7 1 - 52 1 11 1
i M OET|| 6,878 380 61 5.5 28 7.4 21| 75.0 4 - - 17 - 7

TR DA RE 42016 — 89 — EoxE (EEEE



7 BHAAREERKRE & (T6—1—2)
(27 EE)
= = A & I NIE| K| B
Ed 5 5 B & % & E|A|ARALVE %
GilIE B % & = = Bl T lowuT]E| X
2y & B x 2y x EJ 5 ) ol % & =
2| % E) = & =) Hl o -] B | 2
3 # Bl (%) (%) 31 (%) | | 1= % = &
& & 5
ekl 120,573 5,636 1,098 4.7 456 8.1 399 | 87.5 | 44 6 1 348 | 17| 40
X i mif[ 50,274 701 176 1.4 58 8.3 53 | 91.4 7 1 - 45 5 -
Bl 12, 041 324 48 2.1 14 4.3 10| 71.4 1 1 - 8 1 3
A 9, 996 766 185 1.7 75 9.8 68 [ 90.7 4 - - 64 - 7
= AT 8, 882 587 135 6.6 24 4.1 20 | 83.3 3 - - 17 - 4
R 4 [T 2,702 180 24 6.7 21 | 11.7 15 71.4 1 1 - 13 - 6
W P HT 6, 305 556 89 8.8 19 3.4 16 | 84.2 - - - 16 - 3
B 2 BT 2,823 184 75 6.5 1 6.0 11 ] 100.0 1 - - 10 - -
= J\ Hr 4,577 430 71 9.4 49 [ 11.4 45 | 91.8 2 1 - 42 - 4
1525 )| /T 8,038 727 63 9.0 89 | 12.2 79 | 88.8 | 14 - - 65 -| 10
X ¥ Er 7, 356 748 145 | 10.2 81 | 10.8 67 | 82.7 8 2 1 56 | 11 3
hullz: ) 7,579 433 87 5.7 15 3.5 15 | 100.0 3 - - 12 - -
14 KEBHOAREZERIKR L% (Te—2)
(FH27EE)
xt = = FRERE®KER
3 " B A N N IS &
Ed B E - & % % E| A A& %
GiliIE B % & = = |l Tl 8 *
H & B = H = E B B3 I N ) ) 2
) 5 H &= H | o | o] 5
# # ] (%) (%) # (%) 3 = 1= &
H =l
ekl 228,804 | 22,978 5962 [ 10.0 [ 1,872 8.1 ] 1,30 | 74.3] 424 | 55| 911 123 | 359
X 18 | 94,796 4,935 1,448 5.2 37 1.5 283 | 76.3 | 62| 13| 208 41| 47
B2 || 23,045 2,576 458 | 11.2 209 8.1 160 | 76.6 | 49 | 12 99 17 32
& 2 8| 19,066 2,645 511 | 13.9 207 7.8 176 | 85.0 | 30 9| 137 -1 31
&= 3 BT 16,875 1,796 372 | 10.6 252 | 14.0 168 | 66.7 | 87 1 80 -| 84
B & [RET 5,148 832 123 | 16.2 52 6.3 36| 69.2| 10 2 24 - 16
w F Er| 12 048 1,907 340 | 15.8 145 7.6 9% | 66.2 | 24 2 70 - 49
B 2 RET 5, 460 816 185 | 14.9 72 8.8 51 | 70.8 9 1 41 15 6
=\ fr 8, 896 1,561 272 | 11.5 111 7.1 86 | 77.5 | 19 2 65 41 21
1IBZENET| 14,994 2,057 243 | 13.7 136 6.6 108 | 79.4 | 42 5 61 - 28
X % ET( 14,019 2,000 1,647 | 14.3 159 8.0 105 | 66.0 | 44 5 56 35 | 19
#hom@ BT 14,457 1,853 363 | 12.8 158 8.5 121 | 76.6 | 48 3 70 1] 26
PRI D AR E 42016 — 90 — 6= [REEE




14 KREBHNARZERIKRE B(T6—2—1)

(ER27FEE)
= = 5 & »N A E O F ¥
Ed 5 5 B & % ® BE|A|AVE %
GilE B = & = = ®w | c|lug # =
2y & B x 2y x 2 5 Rl H|nb %
)] M & = H | o | D o] E E
5 % Bl (%) (%) 31 (%) | | 1= 1=
& =
&L |l 108, 231 9,326 2,325 8.6 936 [ 10.0 693 | 74.0 [ 180 [ 28 | 485 67 | 176
X i || 44,522 1,738 464 3.9 171 9.8 132 77.2| 23 4 105 19| 20
B2 || 11,004 1,139 203 | 10.4 123 | 10.8 91 | 740 24 8 59 1"l 2
A 9,070 1,138 211 | 12.5 108 9.5 87| 80.6| 12 4 71 -1 21
e ) 7,993 767 148 9.6 129 | 16.8 90 | 69.8 | 41 1 48 - 39
8 4 [ ET 2, 446 374 60 [ 15.3 33 8.8 24 72.17 7 2 15 - 9
#F Hr 5,743 771 138 | 13.4 63 8.2 441 69.8 9 1 34 - 19
& .2 AT 2,637 360 84| 13.7 35 9.7 24| 68.6 3 1 20 8 3
%= J\ H 4,319 673 116 | 15.6 55 8.2 39| 70.9 4 1 34 2| 14
1521187 6, 956 855 91| 12.3 68 8.0 59 | 86.8| 23 2 34 - 9
X % H 6, 663 807 679 | 12.1 86 | 10.7 55| 64.0 20 3 32 22 9
pullz: ) 6,878 704 131 | 10.2 65 9.2 48 | 73.8 | 14 1 33 5] 12
14 KENABREZERRRE Z(T6—2—2)
(FH27EE)
*F = = FERERKERE
= = 15 & PN NS IS 1A
E E 5 - & % % E| A A& %
THET 4 B = % = = | c|luT # x
& & B % & % ] E B H|NB =
) ESd & &= H | o |0 o] E 5
# # ] (%) (%) # (%) El = -
=1 =l
ERk |l 120,573 3, 652 3,637 | 11.3 936 6.9 697 | 74.5 [ 244 | 27| 426 56 | 183
X #8 W 50,274 3,197 984 6.4 200 6.3 151 ] 75.5 | 39 9] 103 22 | 27
Bl 12,041 1,437 255 | 11.9 86 6.0 69 | 80.2 | 25 4 40 6 1
B £ H 9, 996 1,507 300 | 15.1 99 6.6 89| 89.9| 18 5 66 - 10
O A 8, 882 1,029 224 | 11.6 123 | 12.0 78 | 63.4 | 46 - 32 -| 45
8 & R AT 2,702 458 63 | 17.0 19 4.1 12| 63.2 3 - 9 - 7
#F Hr 6, 305 1,136 202 | 18.0 82 1.2 52 | 63.4| 15 1 36 -1 30
& .2 BT 2,823 456 101 | 16.2 37 8.1 271 73.0 6 - 21 7 3
= J\ H 4,571 888 156 | 19.4 56 6.3 47 83.9| 15 1 31 2 7
15251 HT 8,038 1,202 152 | 15.0 68 5.7 491 721 19 3 27 - 19
X % H 7,356 1,193 968 | 16.2 73 6.1 50 | 68.5 | 24 2 24 13| 10
Hullz:J) 7,579 1,149 232 | 15.2 93 8.1 73| 78.5| 34 2 37 6| 14
TR D ARE£2016 - 91 — F6E R



v NARBRERE #B#%(Te—3)

W

<>
(fa%) (ER275E)
=
" iz &
LLGEE EeE il iz ¥
£ el %
@ ~
BRRE 228,804 15,346 4,449 6.7
KIE™ 94,796 6,165 2,065 6.5
wEM 23,045 152 38 0.7
EEZH 19,066 1,449 522 7.6
E 16,875 1,273 491 15
8+ R T 5,148 1,329 157 258
F 12,048 1,485 182 123
2 NET 5,460 620 177 114
= J\ BT 8,896 1,949 320 219
152511 BT 14,994 249 125 1.7
X 5 BT 14,019 521 244 3.7
th B BT 14,457 154 128 1.1
<HERT VI RIRIRE > (FRL27FE)
3 = A A N »n &l X ¥
2 A A % % L) A | A BEAE 1%
GiLIEZ] = - - - w T | O W<l 8 x
& & x 5 EJ B %) DN & =z
& = & ) Hl o o] B 2
] (%) # (%) El 1= 5 1=
*1 = =1 =1
BN 15,346 225 15 192 85.3 40 12 4 138 2 31
X 18 6,165 49 0.8 a4 83.7 4 5 3 29 - 8
wEM 152 - - - - - - - = = =
H 2 H 1,449 48 33 41 85.4 11 3 - 27 - 7
E  H] 1,273 38 3.0 31 81.6 10 1 - 22 - 7
B8+ [R ET 1,329 34 26 28 82.4 4 1 1 22 - 6
P Hr 1,485 26 18 25 96.2 5 1 - 19 - 1
& 2 [NET 620 5 0.8 5| 100.0 2 - - 3 - -
= J\ BT 1,949 5 0.3 5| 100.0 1 - - 4 - -
1535 )11 BT 249 2 038 2| 1000 - - - 2 - -
X B BT 521 9 1.7 7 7738 2 - - 5 2 -
ith B BT 154 9 5.8 7 7738 1 1 - 5 - 2
L ERMRZREZHETRELLEEET
o i D AR E 2016 - 92 — £6E (R



<BEBIVIRARBRERVIEHEMED >

(ER275E)

= E:2 1 1 yaN yaN nE|l x A
2 = ¥ ® ® 2 A | A BEIAE ®
DiliES 1’ % 2 -4 w T | W] & *
&H & = B 2 £ H | & =
8 = = b} o) Hl o o] # ]
# (%) # (%) El = % 1= =
*2 *3 = H =
ERBE 380 - - - - - - -
X & m 69 . . - - -1 [ -
B2 h 16 - - - - - -
£ EH 64 - - - - - - -
& # B 9 - - - -
7 BT 34 - - - 1 - -1 -
] 23 - - - 1 - -1 -
8 2 PO 36 . : - -
= J\H 32 - - - - - - -
1821187 40 - - - -1 - - -
X 5 By 22 - - - - -1 - -
ith F BT 35 - - - - - - -
*2:MET VI RBRERVIERMREZZZEOES *JIERMIEZICEIERREEN
TR DN R E 42016 — 93 — E£6E (@RS



v MMNARBZERIRKRE B(T6—-3—1)
<>
(%) (ER275E)
- 2
LLGEE EeE il iz ¥
£ el %
@ ~
BRRE 108,231 6,074 1,736 5.6
KIE ™ 44522 2,261 781 5.1
wEM 11,004 98 19 0.9
EEZH 9,070 670 238 7.4
E 7,993 471 175 5.9
8+ R T 2,446 589 69| 241
F 5,743 588 74 102
2 NET 2,637 268 70 102
= J\ BT 4,319 783 124 181
152511 BT 6,956 135 64 1.9
X 5 BT 6,663 156 77 2.3
th B BT 6,878 55 45 0.8
<MEITvIRRIRE > CER275E)
= = A A N »N &l X ¥
2 A A % % g A | A BE|AE 1%
GiLIEZ] = - - - - T | D W<l # x
& & x 5 EJ B %) D" H =2
& i & o) Hl o o] # E
] (%) # (%) El (- 5 =
*1 =] =1 =1
BN 6,074 114 1.9 96 84.2 16 9 3 70 1 17
X 18 2,261 25 11 20 800 1 2 13 - 5
wEM 98 - - - - - - - - -
H 2 H 670 27 40 21 778 6 - 13 - 6
E A 471 13 28 12 92.3 4 - 9 - 1
B8 [ BT 589 20 34 17 85.0 2 1 14 - 3
P Hr 588 13 22 12 92.3 2 - 9 - 1
i 2 PRET 268 3 1.1 3| 1000 1 - 2 - -
= J\ BT 783 3 0.4 3| 1000 - - 3 - -
1535 )11 BT 135 2 15 2| 1000 - - 2 - -
X B HT 156 3 1.9 2 66.7 - - 2 1 -
ith B BT 55 5 9.1 4] 800 - - 3 - 1
L ERMRZREZHETRELLEEET
FRMIE D N R EE2016 — 94 — Zom



<HEI V) RRRER VIERMEE > (ER27FEE)

= FERERKER
= = A A AN AN &l X &

2 -1 -1 % % g A |ABElALE %
GHiIES % % = = £ T | <] x

& & = S S B ) DN H =z

o = b 15} o) Hl o o] # 2

= (%) £ (%) El - % 1= &

*2 *3 = =1 =1
BN 346 = = = = = = = = = =
KiE M 61 - = - = - - - - - -
BE™ 16 - = - = - - - - - -
o) 60 - - - - - - - - - -
I 3 H] 9 - - - - - - - - - -
R84 [ BT 34 - - - - - - - - - -
#F H] 19 - - - - - - - - - -
B 2 PN ET 28 - - - - - - - - - -
% J\ BT 28 - - - - - - - - - -
I8 37 - - - = - - - - - -
X % B 20 - = - = - - - - - -
A R 34 - - - - - - - - - -

*2 BTV ABRERVIZRMRZZEEOES *ERMBEZICLIIERREEYN

FaEhE DN REE2016 — 95 — EoE RS



v N ARZERKRE Z(T6—3—2)
<##>
(%) (ER274%E)
- 2
LLGEE EeE il iz ¥
£ el %
@ ~
BRRE 120,573 9,272 2,713 7.7
KIE ™ 50,274 3,904 1,284 7.8
wEM 12,041 54 19 0.4
EEZH 9,996 779 284 7.8
E 8,882 802 316 9.0
8+ R T 2,702 740 88| 274
F 6,305 897 108 14.2
2 NET 2,823 352 107 125
= J\ BT 4577 1,166 196 255
152511 BT 8,038 114 61 1.4
X 5 BT 7,356 365 167 50
th B BT 7,579 99 83 1.3
<MEITvIRRIRE > CER275E)
= = A A N »N &l X ¥
2 A A % % g A | A BE|AE 1%
GiLIEZ] = - - - - T | D W<l # x
& & x 5 EJ B H D" H =2
& i & o) Hl o o] # E
] (%) # (%) El (- 5 =
*1 = =1 =1
BN 9,272 111 1.2 96 86.5 24 1 68 1 14
KB 3,904 24 0.6 21 875 3 1 16 - 3
wEM 54 - - - - - - - - -
H 2 H 779 21 2.7 20 95.2 5 - 14 - 1
E  H] 802 25 3.1 19 76.0 6 - 13 - 6
B8 [ BT 740 14 1.9 11 78.6 2 - 8 - 3
P Hr 897 13 1.4 13| 1000 3 - 10 - -
i 2 PRET 352 2 0.6 2| 1000 1 - 1 - -
= J\ BT 1,166 2 0.2 2| 1000 1 - 1 - -
153 IET 114 - - - - - - - - -
X B BT 365 6 16 5 83.3 2 - 1 -
ith B BT 99 4 40 3 75.0 1 - - 1
L ERMRZREZHETRELLEEET
FRMIE D N R EE2016 — 96 — Zom



<HEI V) RRRER VIERMEE > (ER27FEE)

2 HERERR
£ £ ¥ ¥ AN ) MRS B S ¥

2 ¥ ¥ ® ® g A | A B AE B
LIS B % 2 2 & T |OWwuT| & *x

& & = 2 2 Ed & D5 & 2

% & x o o) Hh| o o] B2

# (%) # (%) Ea = % 1= &

*2 *3 & & &
ERHE 34 - - - - - - - - - -
KEH 8 - - - - - - - - - -
R il - - - - - - - - - - -
EZH 4 - = - = - - - - - -
E 3 B - - - - - - - - - - -
B [RET - - - - - - - - - - -
B 4 - = - = - - - - - -
¥ 2 PET 8 - - - - - - - - - -
=\ B 4 - - - - - - - - - -
I8 3 - - - - - - - - - -
X % B 2 - = - = - - - - - -
it B BT 1 - - - - - - - - - -

*2MIER Ty Y RRRE R VIERMIALZZEDES *3 AL SR D ERREEN

FaEhE DN REE2016 - 97 — EoE RS



I FEESARSEEKRZ(T6—4)

(ER275E)
st 2ENR = BERERKSR

A 2 | 2 |2 | % | & 7 R R

% & # | & | & | #% | &% | & #2284 |cns o5 | &Y #

LilE] S B b ® #® 2 2| ® © | 3k [omz | omi | BR | (g |[ONF| s |

= | 8| = |8 ||| 2 |8|8|8|s |t K sl 22 2

# 2 = el = = | & 5 |Bof| f-E | =E& x| 2| 2| ® 2

# E o 5 | 2| o w | & || | = | F R |5 op =

& & =l &

Sk || 160389 | 12487 | 3251 | 11,497 | 6632 108| 233 19| 184] 790 33 9 3| 18] 22 7| 87| 42| 17 32
KiE T || 68321 4964 | 1678 4524 2155 107 83 17 78| 940 14 5 -l 10| 10 - 26 4 1 4
wiE || 15620 1,151 168 | 1,364 | 730| 114 15 13 12 | 80.0 - 3 1 2 6 - - 1 - 3
#*EE || 13054 864 320 951 5| 139 11 13 8| 727 1 1 - 1 3 - - -1 - 3
A (| 11,741 904 226 931 | 1,060 6.6 30 33 23| 76.7 6 - - - - 2 - 5] - 7
B4 [RET 3,339 362 73 47| 215| 169 3 0.8 3 (1000 - - - 3 - - - -1 - -
P T 8,388 502 100 650 | 307 | 10.1 15 30 11| 733 3 - - - - - - 7 - 4
i 2 NET 4,002 175 41 281 96 9.0 5 29 3| 60.0 1 = 1 = = - 1 - 2 =
= )\ By 6,157 236 66 222 | 120 55 2 08 1| 500 - - - - - - - 1 - 1
BT || 9981 | 1,327 135 | 1,350 | 1,082 | 16.0 18 1.4 12| 66.7 3 - - - - 5 - 4] - 6
X % ET 9745 | 1,149 270 -| 487 6.8 24 2.1 13 | 542 1 - - 1 - - 6 4] 1 -
ith B AT || 10,032 853 174 807 | 375| 128 27 32 20 | 74.1 4 - 1 1 3 - 4 6 3 4

X ZRE=(HEEOZDER+TLAREEOZDER-THEERVLREEICE T 26 ERZLE
1) FTHBREEDORRESI X100

HEERE. FIRTIVARZDHELRAKICHET S,

FaiE i D AR ET 42016 — 98 —



T AP AREBRMEIRNR (T6—5)

<BMEBLVUIVETST4> (ERR27EE)
xt RLER BERERKRE
B 2 = = b 5] S A S ¥
Ed 5 & k3 # & % % 2 L | A ElAE ®
eliE E=:1 Ji:4 bt 2 B % %2 = #® T |ownluT| ® *
= F ) 2 % H Ed 2 E 2 5] (D)) %2
0 2 %2 = 4 £ = :2) 2 H| 0 o] # ]
8 B = & E # £l 1= % 1= £
=l (%) (%) (%) #H & #H
BN 120,599 | 11,152 | 2,179 | 10,074 | 4,647 [ 13.7 ] 801 7.2 725 90.5 | 383 32 7| 303 24 52
X #EH 50,274 | 2,626 | 1,028 | 2,248 -] 9.7 226 8.6 212 93.8 | 115 8 4 85 8 6
wmEM 12, 041 1,237 187 | 1,207 750 | 14.1 100 8.1 78 78.0 51 5 - 22 6 16
A 9,996 803 252 959 17| 17.5 48 6.0 46 95.8 17 2 2 25 - 2
E H B 8,882 928 - 768 520 | 13.2 100 10.8 92 92.0 49 5 1 37 - 8
B8 4 IR AT 2,702 381 33 - 225 | 5.8 15 3.9 13 86. 7 6 1 - 6 - 2
W 7 B 6, 305 763 121 758 421 | 17.4 63 8.3 60 95.2 33 5 - 22 - 3
& 2 AT 2,823 445 104 359 239 | 20.0 27 6.1 26 96. 3 9 1 - 16 1 -
= J\ BT 4,577 644 109 588 358 | 19.1 51 7.9 47 92.2 27 - - 20 1 3
153118 8,038 | 1,174 52 | 1,118 961 | 16.6 50 4.3 45 90.0 21 1 - 23 - 5
X % Hr 7,382 | 1,240 174 | 1,237 695 | 24.1 62 5.0 52 83.9 26 3 - 23 8 2
th B AT 7,579 911 119 832 461 | 16.9 59 6.5 54 91.5 29 1 - 24 - 5
¥ ZRR=(HEEOZDERIHLZEEOZLER-TIEERVLAREE(CH T 25 K22 ER) +
LZEEORRERIX 100
<XVEGFI4DH> (TERE274E )
xt ZLER REREHKE
B 2 = = = i w ES x| % ¥
% 5 £ £ # & ® %" ] b | A BElIAB ®
DilIES B E & 5 ® % %2 = ® T |owl Tl ' *
H 3 B 2 % & b4 2 Z ) » IR Z
)] 2 2 x ® £ E & H| o o] # 2
4 = E] 5 2 £ ¥ - ) f= e
= (%) (%) (%) =) & &
BN = = = = = = = = = = - - - - - -
X B - - - - - 1 - - - -1 -1 -1 -1 -
wmEM - - - - - = - = - = - - - - - -
A - - - - - = - = - = - - - - -
EdEal) - - - - - = - = - = - - - - -
B AT - - - - - 1 - - -1 -1 -1 -1 -1 -
W E A - - - - - 1 - - - 1 -0 -0 -0 -1 -1 -
& 2 T - - - - - 1 - 1 - 1 -1 -1 -1 -1 -1 -
= J\ BT - - - - - = - = - = - - - - - -
1B 118 - - - - - 1 - -l - 1 -1 -1 -1 -1 -1 -
X % - - - - - 1 - 1 - 1 -1 -1 -1 -1 -1 -
it B T - - - - 1 - - - 1 -1 -1 -1 -1 -1 -
¥ ZRR=(HEEOZLERHLZEEOZLER-TIEERVLAREE TS T 25 EHZLER) +
THZEEORRELRIX 100

R D N R E£E2016 — 99 — EOE ([EEEiEE




h EWERE - FHBRERDERINT (T6—6)

(FRR275E)
wWREERBRR P T H B E R 2

HETA % 22 EH E | E | BE|RRE| E | E | 2%
- E] = BRE(IEEE(ROT| %% (HRE|EEE|2OT

" 407% | 507% | 607% | 70%% | 407% | 507% | 607% | 707% (&)
El#gk | 500| 35| 38| 55| 44| 82| 88| 88| 70| 378| 66 56| 1,006 180 213| 613
X 18 38 1| - 1| 7| 11| 2| 2| 14| 22 8| 165/ 59| 48 58
wE 121 - 1| 1] 38| 1 - 2 4 6 4 2| 1771 29| 30| 118
# 2z BT || 133 9| 9| 16| 8| 23| 25| 25 18 114| 11 8 - - - -
& 5 BT 8l | 1| | 2f 1| - 2 2 5 - 3 - - - -
B8 4 [RET 35| 3| 5| 4| 4 4| 4] 5| 6] 25 8 2| 134 20| 83 3t
# 7 ®r || 101| 10| 17| 14| -| 20| 20| 20| -| 80 7| 14 - - - -
¥ 2 PR ET 210 1 - 2| 1| 3| 8] 3 3 17 2 2 - - - -
= J\ HT 31| 2| 1| 51 5| 2| 8] 3 5 12 17 2 - - - -
152 )I1HT 500 2| 2| 8| 9 5| 5 11| 8 38 3 of 215 671 28| 120
K % 25 5| 1| 1| -| 4] 8] 6 -| 24 1 -1 169 4 8| 157
OB ET 46 2| 1| 3| 5| 8 8 9| 10 35 5 6| 146 1 16| 129

TR DA RE 42016 — 100 — EOE REHEE



F FRVMIVARZEERE <EBE&RZ>(T6—7)

(Ep27EE)
GRS CEMRDIEE BEM R DaE |
] . CH Hifm __ BEY ?iéy\ﬁ BRI R S A IR | Bt | REER
TR |HREH|Z2ER x(o/:)i SHEH ’E°//o) HED | e =t %) %)
BRI 3,796 351 9.2 351 9.2 - - - - 2 0.6
X B 730 4 05 4 05 - - - - - -
mE W 520 31 6.0 31 6.0 - - - - - -
=5 2 0 392 48 12.2 48 12.2 - - - - 1 2.1
e 379 40 10.6 40 10.6 - - - - - -
Rg 4 [RHET 79 19 24.1 19 24.1 - - - - - -
W F HT 301 20 6.6 20 6.6 - - - - - -
&5 2 NET 163 20 12.3 20 12.3 - - - - - -
= J\ Hr 222 51 23.0 51 23.0 - - - - 1 2.0
1531187 307 2 0.7 2 0.7 - - - - - -
K B HET 350 39 11.1 39 1.1 - - - - - -
A B ET 353 77 21.8 77 21.8 - - - - - -
X RV REDEEKRE<SBNMES > (T6—7—1) .
GERY TS CEIFFRDIER BEIFF X DR
e CE! BT | BEIAF X RBEEmREEN T VE REE | BE | BEE
n PN Ry
RRER ERFH yro | wro | s
(%) (%)
41 ~4455 45 45 1 - 2.22 1 2.22
45~495% 220 220 - Z — Z N 045
50~545% 240 242 - - - - 1 0.41
55~591% 292 292 1 - 1 0.34 3 1.03
60~ 6455 412 415 - - - - 3 0.72
65~ 6958 491 492 1 1 2 0.41 3 0.61
7085 Ll 200 200 1 - 1 0.50 1 0.50
&t 1,900 1,906 4 1 5 0.26 13 0.68
BRI O N REE2016 - 101 - HeE R



(2) BEBESEERIKR
7 BEFIRZ T - R - #EEIE(T6—8)

(FH27EE)
REFE B B #H % o ® KB K R HEEIIRORIER R
o fEM N E R O£ K M OB e &

s0-74 | 75 ENE |BEE%E| BRA (GERE| BAEE | xtoRE | men | BRES oulaia

. Ut FAfEEI% HAE | % | EAE | B | ZEAS | B | ZEAE | B | ZEAE (B | EAE | @HK | ZEAS | B% | EAE | BH | EAE
TN 970 144 70 594 7 8 2 3| 16 151 7 129 7 180 - - 31 123| 487| 6,024 - -
KiEH - - 10 144 - - - - 10 144 - - - - - - - - 117] 1,650 - -
wmET 29 2 - - - - - - - - - - - - - - - - 29 493 - -
=2 EH 136 24 - - - - - - - - - - - - - - - - 25 62 - -
I BT 271 65 6 82 - - - - - - 6 82 - - - - - - 28 211 - -
B~ [ ET 146 - - - - - - - - - - - - - - - - - 56| 1,240 - -
#HF 14 2 - - - - - - - - - - - - - - - - - - - -
& 2 NET 37 4 - - - - - - - - - - - - - - - - 31 57 - -
= J\ B 64 11 9 11 2 2 1 2 3 4 - - - - - - 3 3 - - - -
21T 70 20 20 157 5 6 1 1 3 3 1 47 5 95 - - 5 5| 134 1,805 - -
X B HT - - - - - - - - - - - - - - - - - - 12 261 - -
th FB ET 203 16 25 200 - - - - - - - - 2 85 - - 23 115 55 245 - -

Taimihis D A RETHE2016 - 102 — $6E (REEHEE




1 BEHE(T6—9)

(FR274E)
BRRESRE OEMRR £ B R EZXBE OE KR R

HETH £ 4 | s Eg # | it A S BHEE (mEwmEs D) [ & 3 = - @
Bl 2 |Z|=| e |2 mime|s mise s m| s |5 m 6| S misEE S mEE|S m
(= AE) 2 B | EAK | @ | EAY | B | EANM | B | EAM | DY | EAK | D% | EAY | @Y | EAN
ERNHBE i -1 - | - 608 | 9,649 33 964 45| 1,012 7 113 219 | 3,386 - -| 304 | 4174
KiEH - - -1 - - 168 | 3,188 23 548 - - - - 30 509 - -| 115 2,131
BEN -1 - -1 -] - 47 865 - - - - - - 20 436 - - 27 429
B Z -1 - -1 -1 - 23 571 - - - - - - - - - - 23 577
i) -1 - -1 -] - 8 141 - - - - - - - - - - 8 141
B8 4 IR ET -1 - -1 -] - 81 1,826 6 155 19 431 - - 56 | 1,240 - - - -
™ F HT -1 - -1 -] - 12 489 - - 3 4 - - - - - - 9 485
¥ 2 R ET -1 - -1 - - 13 178 - - 2 20 - - 11 158 - - - -
= J\ H -1 - -1 - - 69 351 - - - - 6 104 63 247 - - - -
1521 BT -1 - -1 - - 133 | 1,167 4 261 21 557 1 9 15 171 - - 92 169
X 5 -1 - -1 - - 14 242 - - - - - - 6 208 - - 8 34
b == -1 - -1 - - 40 625 - - - - - - 18 417 - - 22 208

FaEh I DN REE2016 — 103 — EoE [REEE



(3) R ERERR (T6—10)

(ERE27EE)
e [TEBIR| FACS | ncon | o= B B "
= s =4 = y
mire |EEFmaw| w03 |1ER BT e LI 2ot
HEE| W CEMEY ot
gE
e RAR| 630 6 33 17 10 - - 1 774
EANE 710 6 33 17 10 - - - 777
X 15 7 EAB 65 - - _ _ — ~ ~ ”
EANE 66 - - - - - - - 36
wmETh =AR _ _ _ - - - - - 688
EAE - - - - - - - - 688
. %Af 100 - - - - - _ _ _
EAE 109 - - - - - - _ _
= 3 EAB 134 - 31 16 10 - _ _ 19
IEAR 134 - 31 16 10 - - - 19
B 7 R AT %A’f - _ - N - - - -1 20
EAE - - - - - - - - 20
g i - - ‘ . - . - - -
EAE - - - - - - - - -
832 ET [ 8 4 4 A4 4 4 4 A4 -
EAE 66 - - - - - — _ _
% J\UH EAE 172 6 2 - - - - - 1
EANE 173 6 2 - - - - _ 2
g Er [ 22 84 - - ‘ - - - 1 1o
EAE 84 - - 1 - - - - 12
X 88 | s 1 4 94 A4 4 4 A4 A4 -
AR - - - - - - - - -
sh @ B EPN=| 67 - - - - - _ _ _
EAE 78 - - - - - - _ _

TR D AR BT 42016 — 104 — mei (REEiSE



	第６章差込ページ.pdf
	p89-91T6-1_2-2016
	p92-93T6-3-2016
	p94-95T6-3-2016
	p96-97T6-3-2016
	p98T6-4-2016
	p99T6-5-2016
	p100T6-6-2016
	p101T6-7-2016
	p102T6-8-2016
	p103T6-9-2016
	p104T6-10-2016

